Find an equation of the plane that contains the points (1,0, —1), (=5,3,2), and (2, —1,4).
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Find parametric equations of the line tangent to the curve 7(t) = ti + t?5 + t3k at the point (2,4, 8
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A smooth parametrization of the semicircle which passes through the points (1,0,5), (0,1,5) and
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2j+tk, —1<t<lis

The length of the curve 7(t) = :
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Mnt(h the g rl[)llH of the equations with their names:

(1) z? +y? Jr z¢ =4 (a) paraboloid

(2) 2?2 +2%2=4 (b) sphere

(3) 22 +y*=2* (¢) cylinder

(4) 22 +y?2 =2 (d) double cone

(5) =%+ 2y° + L = ] (e) ellipsoid
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Ifw=e“and u=r+s, v=rs,find 7)_’,‘
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Assuming that the equation xy® + 3z = cos(z“) defines z implicitly as a function of x and y, find :;—,
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For the function f(x,y) = z°y, find a unit vector @ for which the directional derivative Djf(2,3) is
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A, —2+4+2y+3z2=2 B. 20 +4y —6z2=6
D. 2v+4y—62=0 @ T+ 2y — 3z = 6.
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Suppose that the Celsius temperature at the point (x,y,z) on the sphere X2 + y2 +22=1isT= 200xy22. Locate the highest and lowest temperatures on the sphere.

The highest temperature on the sphere is D"C. (Simplify your answer.)

The lowest temperature on the sphere is D°C. (Simplify your answer.)
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